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IBM P8060-001 : Practice Test

Question No : 1

What factor does NOT contribute to increased complexity and hinder multi-enterprise
integration efforts?

A. Increasing numbers of trading partners

B. Increasing reliance in Single Platform ERP, CRM and B2B Solutions
C. Increasing numbers of connection types and protocols

D. Increasing volumes and file sizes of multi-enterprise traffic

Answer: B

Question No : 2

Which of these Visibility & Management Services are provided with Sterling B2B
Integrator?

A. Web Services, Web Extensions, Java SDK and Managed File Transfer.

B. Document standards, routing, integration adapters, transformation and mapping,
community services and communication services.

C. Event management, presentation services, dashboard services, auditing & reporting.
D. B2B orchestration, workflow, process modeling, process templates.

Answer: C

Question No : 3

What can organizations do to address the challenges of multi-enterprise integration?

A. Focus on automating core processes.

B. Rationalize platforms and vendors to reduce costs and improve performance.
C. Increase budget for B2B activities.

D.Aand B

Answer: D

Question No : 4
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